
Our group decided we wanted to work with boats and jetski's. We have two shops. The first shop, shop A, basically assembles, and the second shop, shop B, finishes the products. In shop A, one person can assemble a boat in 2 days or a jetski in 3 days. In shop B, one person can finish a boat or a jetski in 3 days. We have 12 employees split over two - eight hour shifts, between the two shops. We make a $400 profit on a boat and $250 profit on a jetski. 


To maximize our profits with the number of workers we have, we decided to have, in shop A, 2 workers during the day, and 3 workers at night. In shop B, we decided to have 4 workers during the day and 3 workers at night. This makes use of all twelve of our employees and maximizes our company's profits.


In our shops, the day shifts work strictly on boats, and the evening shift works strictly on jetski's. Using these employees we can make 5 boats and 5 jetski's in a week. Our total profit between the two shops is $3,250


Using the profit function 400x + 250y, we derived that $4,800 is the maximum profit we can acheive, making 12 boats and no jetski's. We decided we actually wanted to make jetski's too, so this isn't the best way to go. 


Next, we tried 6 boats and 5 jetski's. We concluded that this would be the best way to maximize our profits, but we don't have enough workers. We then tried 5 boats and 5 jetski's. We decided that this would work best for everyone. To figure out our profit, we took the $400 we earn per boat times the 5 boats we decided to make.. We took the $250 we make per jetski and multiplied it by the 5 boats we are going to make. We came up with $3,250 per week. 

